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This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvs—h

(Long Answer Type Questions) / (€T IR 7%)

Note :

qrc :

Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. What are the causes of unemployment in India ?
Explain in brief different poverty alleviation
programmes started by government.
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IRT H RGN & T BRI & ? WHR gRT !
S B oY ey T BRIGH ) e @
I |

Discuss the role of agriculture in the Indian Economy.
Also elaborate upon the pattern of farm output and
productivity.

IR e ¥ o @ qfer 9dsd| 6o
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Write a note on Privatization, Globalization and
Liberalization.

FoldRu], HSeIdRY 3R ISNGW R TE o
ferRam |

How can the balance of payments of a country be
improved ?
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Section-B / Yvs—Y
(Short Answer Type Questions) / (?rrgr SN %)

Note : Section ‘B’ contains eight (08) short answer type

e

1.

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

Qe ‘@ # 3 (08) oY I T A M E
TAG Y b fU oMo (08) ofp fwiRa
IRl a1 3 ¥ dadt TR (04) WAl & IR o
g |
Write a short note on the problem of unemployment in
India.
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Describe the features of planning.

RICEICARCRERIMCRIFOE

Discuss the Green Revolution in India.

IRd ¥ BRI Pifd @1 fadem T BT

Write a short note on “Industrial Policy of 1991

“1991 @ 3N Ift” W v dfera fewfy forRau |

Discuss the main elements of Public Distribution
System.
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Write a short note on Parallel Economy.

IR Jfdaee R Ueh Gferg fewol forRgu |

Explain the trends of public expenditure in India.
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Explain that on what basis is the distribution of income
sources between the central and the states.
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Section-C / GUvs—1T
(Objective Type Questions) / (a¥ftS Je)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.
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Choose the correct alternative :

el fdmcy &1 TgT HIfTU -

1.

Indian Economy is termed as :
(@) Developing Economy

(b) Developed Economy

(c) Socialist Economy

(d) Underdeveloped Economy

TR SFIqaRel B AT o & -

(@) famreaiier srefegawen

(@) famRia smeferaen

(W) wHToTaTe iieaRen

(3) oreufdmRIa srefarawa

Which of the following is a characteristic of Indian
Economy ?

(@) Predominance of agricultural sector

(b) Massive unemployment

(c) Low per capita income

(d) All of the above

frfeiad § | dF-0 IR siferaRen @ faevar
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(@) orcafRd RIS
@) = g afdd ema
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In which type of unemployment, marginal productivity
IS Zero or near zero ?

(@ Structural

(b) Disguised

(c) Seasonal

(d) Frictional

fhd JpR B RIS ¥ HHId Icaedhd! I AT I
& e BRil 8 ?
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‘Disguised unemployment’ is seen in which sector ?
(@ Industry

(b) Trade

(c) Agriculture

(d) Transport
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5. When was the New Industrial Policy announced ?
(a) 1990
(b) 1991
(c) 1992
(d) 1993
T 3iEnfie Aift &9 aifvg @ g ?
(31) 1990
(@) 1991
(|) 1992
(@) 1993
6. Land Reform Policy in India has been started in :
(a) 1950
(b) 1951
(c) 1948
(d) 1947
RA H SN YER AR $T1 16 ay | fhar T -
(31) 1950
@ 1951 #
(@) 1948
(@) 1947

7. In which five year plan, process of industrialization
started in India ?

(@) Second
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(b) First

(c) Third

(d) Fourth

RA H SRl & gwerd fbd veadig Ao |
gs ?

(@) fecia

(@) verH

() T

@) =g

The term invisible items is used in the context of :

(a) Balance of Payment

(b) Black Money

(c) Balance of Trade

(d) Price Subsidy

A HS YREel $ WM EfaRad & d=e |
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Which of the following sectors is contributes
maximum gross saving in India ?

(@) Public Sector

(b) Public Corporate Sector
(c) Domestic Sector

(d) Household Sector
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10. Allocation of resources between centre and states is
done by :

(@) Finance Ministry

(b) Finance Commission

(c) Prime Minister of India

(d) President of India
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(@) R & WA gRT

(@) WRd & It gw
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